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ZMB =0 = —A4,(0.400m) + 120N (0.125m) — 225N (0.100m)
=0
A, = —18.75N
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ZFx=O = Fye —E, =0
sz =0 = —-1500—900+E, =0

ZME — 0 = 1500(10) + 900(4) — Fy-(3) = 0
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1500 1b 7750 1b

B
= =3 6200 lb

NG I
75* pal

F—2ft —|wv. Mg Fga = 7750 Ib

Fpp = 4650 1b
(c)

tAG ¢ 3l O3l gl w¥slaa gyl puzdl lalades
Equations of Equilibrium.
H3F, =0, 77501b(%) + N¢=0 Ng=-62001b Ans.

+1=F,=0; -15001b + 77501b(2) — V5 =0
Vi = 31501b Ans.

(+ZMg=0; Mg — (77501b)(2)(2 ft) + 1500 Ib(2 ft) = 0
Mg — 630010 - ft Ans.

v yall aaioll ajally  padll S98g. Aol lill 89all coven! : 38 Lus
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Support Reactions:
C+EM, = 0 &(2.25) — T(06) = 0O T = 30.0 kN
— ZF,_ = 00 — A, =0 A, = 30,0 kN
+T=2F, = 0; A, —8B8=0 A, = 8.00 kN

Eguarions of Egquilibrium: For point O

— EF = 0 —N- — 30,0 = 0
Ne = —30.0 kN
+TZF, =; Ve + 8.00 = 0
Vi = —8.00 kN
C +Z M- =0 E.00(0.75) — M- = 0

M- = Ml kN - m
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C+IMg =1 ~A4) 4 6(3.5) + é{l](E}[EJ =0 A, =T13kN
Referring to the FBD of this segment, Fig. b,

~3F, = 0 Ne =10

+ TE.I":‘. =0 T50-6-V-=0 V-=150kN

C+EMe=0; Mo +6(05) =75(1)=0 Mg =450kN-m
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C+IMy=0;  B/4) - 6(0.5) - S3)E2) =0 B, =300kN

Referring to the FBD of this segment, Fig. b,

S+ EF, = Np=0
. 1 . _
+12F, =0, Vp-z(15)15) +300=0 Vp=—1875kN

|
C+ZMp=0; 3.00(15) - 5 (1L5)(15)(0.5) = Mp =0 Mp =39375kN-m

= 34 kNm
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